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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11
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m=470, FV0=0

—o— M_E

4%5 4é0
m=925,n FV0=0

T T
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—— MW

440 445
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24 5 _ 24 5 .
T T T T T T
926 928 930 985 990 995
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P3-11

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:25 283 150.0 2.888 RS {Ri&e07:25 Bl (REAEHSE)
08:05 283 150. 0 2.888 BE| 1Ri%e08:05 Bz (KAL)
09:20 283 150. 0 2.888 BE| 1Ri8e09:20 Bal (REEEE)
10:05 283 150.0 2.888 B 1Rige10:05 Bzh (REEESE)
10:45 283 150.0 2.888 BS| 1Ri%e10:45 Bz CGGREEESE)
11:20 283 150. 0 2.888 Bl Rige11:20 Bal (REEESE)
11:55 283 150.0 2.888 S| 1Rige11:55 Bah (REERESE)
12:25 283 150.0 2.888 S| Rige12:25 Bz (REAEHE)
12:55 283 150. 0 2.888 BE| Ri%e12:55 Bz (RFA{ERE)
13:25 283 150. 0 2.888 s Ri%e13:25 Bz (REERSE)
14:00 283 150.0 2.888 BE| Rige14:00 Bz (REAEHE)
14:35 283 150. 0 2.888 BE| 1Ri%e14:35 B3 (GRF{EREE)
15:15 283 150. 0 2.888 el BRi%e15:15 Bz (GREERSE)
16:00 283 150.0 2.888 BE| Rige16:00 Ba (REAEHE)
16:55 283 150. 0 2.888 BE| 1Ri%e16:55 B3 (RFA{EREE)
21t 4245.0 (15)%) 2250. 0 3 UHEKEC: 2190, PH: 5.9

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRIERE150. 0 ml.

FREVGEIN S RiFEi&PH 5. 93
HEERECE (1847.0 vs 3827.0) 15
FREVRIN S K IKEC 2194.0

150.0), FAEEHT—@ % XA HS




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=70 (2025-06-11)

150 Fm—————F——————F——————F-—————F——————F——————F——————F-—————F-—————fe—————F——————F—————]
VI, Vg, FRV. ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3128
160 + 3000
2500 950 =
715 948 5000 —
E
50 =
20 620 F 1000 -
Warning: [col ['FVI',| "FVO’'] missing
-0
1
- 200 o
L
+150 &
o
L 100 =
50 &
0
4
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0.6 1
0.4 -
0.2 A
Warning: [col ['WC1’, "WC2'] missing
0.0
o | OPtECO=2743.0, setECB=2190 t
0.6 1
0.4 -
0.2 A
Warning: |col ['ECB’, "ECC’'] missing
0.0
o5 | OPtPHO=6.5, setPHB=5.9 t
0.6 1
0.4 -
0.2 A
Warning: |col ['PHB’,| "PHC'] missing
0.0 1
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400 - . - 4000 2
G
E
200 - - 2000
wl
£
35
[&]
0 f—=R——=%  — — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
B | B | 5 | g | g | g | g | G| BG | BB 5 5 i 5 | BB | B 5 5 5 5 5 SREFRERS >
400 - 1 4000 £
ByEt @D70 19:36: ET=2294 Fg=2550.0 Ro=nan : =
~N
: E
200 - - 2000
wl
£
35
[&]
e = —— —— = | 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
B | B | 5 | g | g | g | g | G| BG | BB 5 5 i 5 5 5 5 5 REERE AR ERREEREES 4000 2
400 A 1 S
ByWoFv @D72 11:47: ET=1946 Fg=2250.0 Ro=479.0 : ‘—:_
~N
l —_—
& E
200 - _//:/\ L 2000
=
3
¥
10— f=—=a—=8f__=@f _=@& 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
ol BB | 5 | | BE | R [HE |5 | R [ A | HR 5 5 i 5 5 5 5 5 RERE A ERREEREERS
0.6 1
0.4 -
0.2 A
0.0
1500 ¢ — | t
o | _obs
—@— PPFD_obs
4
80 4
60 -
404 — RH
o RH_obs
20 ® RHo_obs
e v f#
@




400

T T T
600 800 1000

m=555,m FV0=0

23.

22.

22.

22,

22.

22.

21.

—o— ME

i
i
i

5é0 5é5
m=695,n FV0=0

23. 25 A

23. 00 A

22.75

22. 50 A

22.25

22.00

—o— ME

760 765
m=815,n FV0=0

23. 2 -

23.0

22.8

22.6 -

22. 4

22.2 -

-o— M_E

i
i
i

820 825

22.

21.

21,

20.

23.

22.

22.

22.

22.

22.

23.

23.

22.

22.

22.

22.

22.

m=440, FV0=0
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m=975, FV0=0
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P3-11

BYiE) | GEREK G | Ele (EA/E) | EREE B/ R | X8R SRR

07:20 283 150.0 2.888 RS {Ri&@07:20 BHal (REAEREE)
08:00 283 150.0 2. 888 RS {Ri%@08:00 Bz (REEREE)
08:40 283 150.0 2.888 S| {Ri&e08:40 B (REAEEE)
09:35 283 150. 0 2.888 RS {Ri%e09:35 B (REAEHE)
10:35 283 150.0 2. 888 e {Ri8@10:35 Bz (REAERSE)
11:20 283 150.0 2.888 el Rige11:20 Ba) (REEESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:40 283 150.0 2. 888 B Rige12:40 Bz (REAERE)
13:15 283 150.0 2. 888 | Rige13:15 Bal (REAEESE)
13:50 283 150.0 2.888 B 1Rige13:50 Bah (REAEESE)
14:25 283 150.0 2.888 BS| 1Ri%e14:25 Bz CGREMEESE)
15:10 283 150.0 2.888 S| Ri%e15:10 B3 (REAERER)
16:00 283 150.0 2.888 B 1Rige16:00 Bzh (REEESE)
16:55 283 150.0 2.888 BS| 1Ri%e16:55 B (GREMEESE)
21t 3962.0 (14)%) 2100.0 EGHIKEC: 2130, PH: 5.8

TERRHERE STHEERT (184.0 : 150.0), AREAT—M@E XAHE
BRINSEEREBE150. 0 ml.

HREVE S RIFEHRPH 5. 77, B THARH A ScHr B3NREPH, 1EF3hiR%
Pl RECE (1887.0 vs 3987.0) i1/

RENZW S RIEREC 2126.0



"MW ]

['ME,

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=69 (2025-06-10)

10 e e g e £ E g gy
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2208 2300 9950 ~
100 {1800 611 2000 ©
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Warning: [col ['FVI',| "FVO’'] missing
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5
+150 &
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0
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0.6
0.4
0.2 -
Warning: [col ['WC1’, "WC2'] missing
0.0
o5 | OPtECO=2657.0, setECB=2130 t
0.6
0.4
0.2 -
Warning: |col ['ECB’, "ECC’'] missing
0.0
o5 | OPtPHO=6.5, setPHB=5.8 t
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0.2 -
Warning: |col ['PHB’,| "PHC'] missing
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m=440, FV0=0 m=475, FV0=0 m=535, FV0=0

23. 25
M_E —o— ME —o— ME —o— ME
23.0 7 23. 00
22.0 -
22.8 - 22. 75 -
2159 29 6 4 22.50 A
22.25
21.0 - 22.4 4 S
22.00
22.2 -
T T T T T T T T T T T T
600 800 1000 440 445 450 475 480 485 535 540 545
m=580,m FV0=0 m=630,m FV0=0 m=675,m FVO=0 m=715,m FV0=0
- ME —e— MFE —o— ME | 239507 o v
23. 25 23. 25
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23.00 - 23.00 1
23. 00
99 75 22.75
22. 75 -
22.50
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22.50
22. 25 -
22. 25 -
22,00 22.25 1
T T T T T T T T T T T
585 590 630 635 640 675 680 685 715 720 725
m=755,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=855,m FV0=0
23.6 23.50
23.75
23. 4 23. 25
23. 70
i 23. 00
23.2 23. 65
22. 75 -
23.0 1 23. 60 -
22.8 22.50 7 23. 55 -
22.6 4 22.25 23. 50 4
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

08:15 283 150.0 2.888 |Z=| {Ri&e08:15 Bzl (KREEESE)
09:05 283 150.0 2.888 |Z=| {Ri%e09:05 Bzl (REAEHE)
09:55 283 150.0 2.888 |Z=| {Ri%e09:55 Bz (KREEHE)
10:45 283 150.0 2.888 [Z=| 1BRi%e10:45 Bzh (REEESE)
11:35 283 150.0 2.888 |Z=| {Ri%e11:35 Bz (REAEHE)
12:35 283 150.0 2.888 |Z=| BRige12:35 Bzh (RAEESE)
13:35 283 150.0 2.888 |[/\i| 1Ri%@13:35 Bah (GREEESE)
14:20 283 150.0 2.888 FA| 1Ri%@14:20 B3h (RkAERSE)
15:10 283 150.0 2.888 |Z=| {Rige15:10 Bz (REAEHE)
16:35 283 150.0 2.888 |Z x| BRige16:35 Bzl (RAEREE)
21t 2830.0 (10)%) 1500. 0 323 KEC: 2060, PH: 5.9

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRIERE150. 0 ml.

FREVGEIN S RiFEi&PH 5. 93
HEERECE (1897. 0 vs 4047.0) 35
FREVRIN S K IKEC 2057. 0

150.0), FAEEHT—@ % XA HS




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=68 (2025-06-09)
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0.6 -
0.4 -
0.2
Warning: |col ['ECB’, "ECC’'] missing
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o5 | OPtPHO=6.5, setPHB=5.9 t
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Warning: |col ['PHB’,| "PHC'] missing
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m=370, FV0=0 m=415, FV0=0 m=525, FV0=0
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